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QUESTION 1

The following information pertains to bonds:

Bond hiﬁanlanuit;—--sé'_‘;::'(i':ﬂfl
T January 2013 April 2013 July 2013
Bond A| 10 Years 94 | 97 89
BondB| 10Years | 102 | 103 | 93
Bond C| 10 Years 370 | 3530 560
Bond D 10 Years 115 | 130 | 110
BondE| 10Years | 10 | 15 7

Further following information is available about a particular bond “Bond F\\

There is a 10.25% risky bond with a maturity of 2.25% year(s) its current price is INR105.31, which corresponds to YTM
of 9.22%. The following are the benchmark YTMs.

Maturity(yrs) [ 1 | 2 [ 3 [ 4| 5 |
YTM 8.22|8.52|8.88//8.98(9.02 |

Assume that the general market rates have increased. An issuer, Revolution Ltd has plans to roll over its existing
commercial paper and forth coming reset dates for its floating rate bonds are very near. Which of the following ratios for
revolution will get impacted?

A. Interest Coverage and Return on assets

B. DSCR, and Return on Assets

C. DSCR, Interest Coverage and Return on assets

D. DSCR and interest Coverage

Correct Answer: A

QUESTION 2
Case Facts as on March 31, 2012

Mark Construction Company (MCC) has bagged a contract for construction of a large dam and hydro power project on
river Shivna in Madhya Pradesh (MP). The project is also of relevance from the irrigation perspective due to its location
and as per the agreement MCC will have to undertake construction of web of canals, approach road to dam, power
house and other ancillary units. MCC is promoted by Mr. Thomas Mark, who is a MP from the ruling party which recently
formed government in MP. Historically, MCC has been engaged into construction of rural roads, small bridges and
railway platforms on contract basis for the Government. MCC will have a separate special purpose vehicle (SPV) floated
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for this venture.

The hydro power project comes under the public private partnership scheme of the Government of MP, where in the
private partner builds owns operates and transfers (BOOT) the hydro power plant. The detailed terms of the hydro
power project agreement are as follows:

1.

The construction of the dam, canals and hydro power plant shall be undertaken by the contractor. The Government of
MP will have to acquire land which will submerge on construction of dam and shall rehabilitate the owners of land.

2.

MCC shall have right to operate the hydro power project from date of commencement of commercial operations
(DCCO) for a period of 20 years and shall transfer the project to Government thereafter. Further, SPV shall be tax
exempt for a period of five years from DCCO i.e. FY17-FY21.

3.

The power project is of 600 megawatts (MW) shall comprise 4 units of 150 MW each. The estimated cost of project is
about INR3, 500 Million to be spent over a period of 4 year(s) the project is estimated to be commercially operational by

April 1, 2016 with two units operational om same day and one unit each will be operational on April 1, 2017 and April 1,
2018.

4.

Means of finance:

Means of Finance INR Million
Government Aid (To be classified as Equity) 500
Equity 000
Debt 2100

Means of Finance INR Million Government Aid (To be classified as Equity) 500Equity 900 Debt 2100 5. Amount if
expenditure estimated in various years is as follows: Funding Cost of Project INR Million Debt Govt Aid Equity Total
FY13 (April to march) 700 0 250 450 700 FY14 1200 500 250 450 1200 FY15 1200 1200 - 1200 FY15 400 400 - 400

Debt shall bear a fixed rate of interest of 10% and all interest till DCCO shall be added to the principal. The expected
principal along with capitalized interest is expected to be INR2, 400 Million (i.e.INR2100 Million debt plus INR300 Million
capitalized interest). The repayment of the same shall be in 12 equated annual installments starting from FY17.

Brief projections for the period of FY17 to FY21 are given below:

Particular FY17 | FY1S | FY19 | FYXD FY21
Revenue from Power sale | 600 900 1200 1320 1452
EBITDA % 72% 68% 63% 60% 60%
Interest Cost 240.00 | 220.00 | 200.00 | 180.00 | 160.00
Depreciation 17500 [ 17500 17500 | 175.00 | 175.00
PAT 17.00 [217.00] 405.00 | 437.00 | 536.20

Developments as on March 31, 2015
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The project manager for the SPV made following comments at a press conferee on March 31, 2015:

As you all are aware, we were running bang on schedule till we last met on December 21, 2014. From today we are just
left with one more year to complete the project in time. However, the flash floods which struck our dam site on this
March 15, 2015 have created havoc in the region. | shall not point out the loss of lives in the region as you all are well
aware of those. Our project has also been badly hit due to the same and we have been assessing the damage over the
last one week. After analyzing damage, we have made changes in project schedule. Now we will be making only one
unit of 150 MW operational on April 1, 2016 and 1 unit each will be added in each of subsequent year(s).

Development as on September 30, 2015 Post the flash floods, lot of environmentalists started raising issues of changes
in environment due to construction of large number of dams. A few Public Interest Litigations (PILs) have been filed in
various courts.

Honorable High Court of MP on September 27, 2015, banned construction of any dams in the region and banned
permissions for new dams till next hearing scheduled on November 30, 2015. MCC in its press release has indicated
that they will apply to the higher court on the matter.

On receiving the credit proposal, the banker informed the company that in FY17 the DSCR is below unity, which is not
acceptable to bank. Which of the following is correct?

A. Had the cash accruals be more by INR50 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC.

B. Had the cash accruals be more by INR8 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC.

C. Had the cash accruals be more by INR8 Million, DSCR would have been unity, SPV can provide an explicit credit
enhancement for the same from MCC.

D. Had the cash accruals be more by INR12 Million, DSCR would have been unity. SPV can provide an explicit credit
enhancement for the same from MCC.

Correct Answer: C

QUESTION 3

In an industry there are only 20 firms and each of them has equal share. Compute Herfindahl Hirschman Index and
state the level of concentration in the industry.

A. HHI = 500; High Concentration
B. HHI = 8000; low Concentration
C. HHI = 8000; High Concentration
D. HHI = 500; Low Concentration
Correct Answer: D

Reference: https://www.investopedia.com/terms/h/hhi.asp

QUESTION 4
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The following information pertains to bonds:

i .. |Spread from

Bond |Initial Maturity) é’_g“ (bps) !
L B ~ [January :ﬂl;i:’k[)lll 2013 July 2013
Bond A 10 Years o4 | 97 89
BondB| 10Yeas | 102 | 103 | 93
BondC| 10Years | 370 | 330 560
Bond D 10 Years I 115 ! 130 || 110
BondE| 10Years | 10 | 15 7

Further following information is available about a particular bond “Bond F\\

There is a 10.25% risky bond with a maturity of 2.25% year(s) its current price is INR105.31, which corresponds to YTM
of 9.22%. The following are the benchmark YTMs.

Maturity(yrs) [ 1 | 2 [ 3 [ 4| 5 |
YTM 8.22|8.52|8.88//8.98(9.02 |

From the time January 2013 to April 2013, what can you predict about the market conditions, assuming the G-Sec has
not changed?

A. There has been credit spread compression, which means the spreads have declines, which can be lead indicator of
oncoming economy stress.

B. There has been widening of credit spread, which means the spreads have increased, which can be lead indicator of
oncoming economy stress.

C. There has been widening of credit spread, which means the spreads have increased, which can be lead indicator of
oncoming economy stress.

D. There has been credit spread compression, which means the spreads have declines, which can be lead indicator of
oncoming economy boom.

Correct Answer: C

QUESTION 5

Satish Dhawan, a veteran fixed income trader is conducting interviews for the post of a junior fixed income trader. He
interviewed four candidates Adam, Balkrishnan, Catherine and Deepak and following are the answers to his questions.
Q-1: Tell something about Option Adjusted Spread

Adam: OAS is applicable only to bond which do not have any options attached to it. It is for the plain bonds.

Balkishna: In bonds with embedded options, AS reflects not only the credit risk but also reflects prepayment risk over
and above the benchmark.
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Catherine: Sincespreads are calculated to know the level of credit risk in the bound, OAS is difference between in the Z
spread and price of a call option for a callable bond.

Deepark: For callable bond OAS will be lower than Z Spread.

Q-2: This is a spread that must be added to the benchmark zero rate curve in a parallel shift so that the sum of the risky
bond\\'s discounted cash flows equals its current market price. Which Spread | am talking about?

Adam: Z Spread

Balkrishna: Nominal Spread Catherine: Option Adjusted Spread Deepark: Asset Swap Spread

Q-3: What do you know about Interpolated spread and yield spread?

Adam: Yield spread is the difference between the YTM of a risky bond and the YTM of an on-the-run treasury
benchmark bond whose maturity is closest, but not identical to that of risky bond. Interpolated spread is the spread
between the YTM of risky bond and the YTM of same maturity treasury benchmark, which is interpolated from the two

nearest on-the-run treasury securities.

Balkrishna: Interpolated spread is preferred to yield spread because the latter has the maturity mismatch, which leads to
error if the yield curve is not flat and the benchmark security changes over time, leading to inconsistency.

Catherine: Interpolated spread takes account the shape of the benchmark yield curve and therefore better than yield
spread.

Deepak: Both Interpolated Spread and Yield Spread rely on YTM which suffers from drawbacks and inconsistencies
such as the assumption of flat yield curve and reinvestment at YTM itself.

Then Satish gave following information related to the benchmark YTMs:

Maturity(yrs) [ 1 | 2 [ 3 [ 4 [ 5 |
YTM 8.22|8.52|8.88/8.98(9.02 |

Which of the modified statement of Balkrishna will be a correct statement?

A. In bonds with embedded options, Nominal Spread reflects not only the credit risk but also reflects prepayment risk
over and above the benchmark.

B. In bonds with embedded options, spread reflects not only the credit risk but also reflects prepayment risk over and
above the benchmark.

C. None of the three.

D. In bonds with embedded options, Z Spread reflects not only the credit risk but also reflects prepayment risk over and
above the benchmark.

Correct Answer: A
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